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M.COM. (FINAL) ABST EXAMINATION, 2016
INDIAN ACCOUNTANCY STANDARDS-IT

Time : Th'ree Hours

Maxxmum Marks 100

PART A( Qus- BT) [Marks 20
" Ariswer all questions (50 words eéch)
All questions carry equal marks,
mﬂm aﬁmﬁ%lmmﬂmmwﬁ@ a?fﬁ?wr‘@n
| gt ;mq‘r % Sieh quH %‘ |
PART - B(‘@JEET) [Marks : 50

-~ Answer five questions (’JS 0 words each).
qelectmfr one from each unit. All questions carry equal marks,

FeIh TS § Ueh-Ueh 99 T §U, o uie e S

T T T ST 250 W ¥ 1 7 8
a+ft o & ww%l
PART - C( Gus-H) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.
P & v | R T S 300 T T A
ot we il & i HE ¥
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1. (a)

(b)

(e)

PART - A
(TUE-37)
UNIT -1
(3E-1)

Define the borrowing cost ? Name any two costs

which included in borrowing cost ?

IYR N 1§27 ®E S A % AW A S 3ER
A H Srer e §2

What facts should to be disclosed according to AS-18

related Party disclosure ?

AS-18 WY TeehR HT AfTeReal  IER fETw
Teheehl fepa ST §2

UNIT -1I
(gT$-10)
How diluted earning per share calculate ?

Frefufia (TReliea) W 3ie 3T Y O Y L S
37
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(d)

(e)

&

(g)

(h)

What is a parent and subsidiary enterprise as per AS-
217

AS-21 % STTER T GHUR TH WETIH Heit 41 &7
UNIT - 111
(3T~ )

What is deferred tax ?

SRR i T 72

State any two cases where Accounting Standard-23 is

not applicable ?

Ut i < saeww (feaf) s st ST TrE-
23 W1 &l g €72

UNIT - IV

(3E-1IV )
What is an Intangible Assets as per AS-26 ?
AS-26 % STIER 3T5¥E wHfd 741 &2
How many forms of j;)int venture as per AS-27 ?

AS-27 % ITTUR WY U9 F ey weT o £
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UNITV

(mﬁ -V)

(i) How the carrying amount of assets is shown in Balance

sheet ?
forg ¥ woafir 3 g e =) 3 e s 82
(i)  Write the accounting treatment Of cbntingent aSset-s.

ey weoftEl % e =R 5 R T"Eﬁaq [

PART B
_— (-@:’Tfa)_. g s }
UNIT - T
( smé—'l )
2. What is the segment reportmg ? How the segment reportmg

helps the users of financial statement ?

wgﬁiﬁaﬂw@agmmﬁ?ﬁaﬁaw%maﬁ
HI TETH I 8 ?
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3.

OR

(3rrar)

~-On 25" April 2014 Sandy Limited obtained a loan from the
bank for Rs. 70 lakhs to be utilized as under :

Particulars - Rs.(in lakhs)
. Const}'_uction of factory shed o o > . Rs.28
- Purchase of Machinery = . i RS, 21

Wokiflg capieal = 7 8 PR | Rs. 14

Advance for purchase of truck - - Rs. 7

In March 2015, construction of shed was completed and

machinery installed. Delivery of fruck was not received. Total

. interest charged by the bank for the year ending on 315 March

2015 was Rs. 12 lakhs. Show the treatment of interest under
AS-16.

et fafies 7 25 otlw, 2014 = F% X 70 o WEEUT’IE?}T
Toraent =1 wonr s iy -
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foarer . (g #)

HRGFT IS 1 fafo 28 TG %.
TR 1w 21 9@ .
wHragie geft 14 WG %.
% %4 & fau afim 7 WG %,

31 |, 2015 FREM A H1 FHfor w1 & 7o o @ w7
T BT TS | 2 1 YOS W el w1 W | $ g 31 9,
2015 T FA AN 12 TG . =S wAT| AS-16 F A=
T % HEER I quigd |

UNIT - T

(3&3-11)

4. What are the difference between operating lease and financial
lease as per AS-19 ? On which types of lease the AS-19 is

not applicable ?

TG AFE-19 % STTER TR UF T e 9 f w0 owR
37 9 YR & 98 W AS-19 @] 7 g ¥
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OR
( gar)
5. Net profit for the year 2015 : Rs. 24,00,000

Weighted average number of equity shares outstanding during

the year 2015 : 10,00,000

Average fair value of one equity share during the year 2015 :

Rs. 25.00

Weighted average number of shares under option during the

year 2015 : 2,00,000

Exercise price for shares under option during the year 2015 :

Rs. 20.00

Compute basic and diluted earning per share.

¥ 2015 & fog = @19 20,00,000

o 2015 % SR SR Wiftd Sivea SHan 279 S W@ 10,00,000

T 2015 % S Tk Twar A 1 oiraa sfaa 9w 25 5.
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= 2015 ¥ foreren & s iR siea sfai =1 wen 2,00,000
2015 H forheq 3 srpia sl ol ST Ted 20 .
SR T WY 391 T el W 37 oSt S e
~ UNIT - I
(s
 RdUs What afé'tﬁé:"discIOSﬁre and présentat'ion requ]rements of AS-
24 for discountinuing operation ?

"’@1@1%—24&?&3&?@%3@%&?%%%1%
TR TS T e S
" OR
( 2teraT)
7. Shanu Lt(::i; had p.ré:-t-;lged accountmg income of Rs. 5,00,000
and taxable income df Rs. 8,00,000 for the‘f-"l.nancial yeér 2011-

12. The only temporary difference is accrued product

warranty costs, which are expected to be paid as follows :
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Year Amount (Rs.)

2012-13 50,000
2013-14 1,50,000
2014-15 1,00,000

Shanu Ltd. has never had any net operating losses (book or
tax) and does not expect any in the future. There was no
temporary difference in prior year. Income tax rate are 40%
for 2011-12,38% for 2012-13, 35% for 2013-14 and 32% for
2014-15. Calculate deferred tax assets/liability for each

financial year as per AS-22.

e fafee & a9 2011-12 & 5,00,000 &, 1 X F @
W@t A TE 8,00,000 . X AFA ™ off | Faw AR
TR ICIR AR ANT gRT SIfvta foran fawant sy =t Fre
YR & s @ 6 . |

EL] T (%)
2012-13 50,000
2013-14 1,50,000
2014-15 1,00,000
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o f&1. =t et off i 33 wftarem it (g @1 W) T
T8 IR g wioss & B =) o %) frowt o off B e
I TR A1 WX W & 2011-12 F 40%, 2012-13 F 38%,
2013-14 # 35% TH 2014-15 F 32% &1 AS-22 ¥ SHER wfy
o % fore SR T o Wy ) o e

UNIT - IV

(3E-1IV)

8. Explain the reporting and recognition requirement in case of

Jointly controlled entities in :

(a) Separate financial statements

(b) Consolidated financial statements as per AS-27

e Frifm st & sria whe oo ey w4
HEFEHMA o AN H TRy

(2) 9o forcha forercor

(b) eTAfERA Tt faeRor AS-27 % sER
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9.

OR
( 3t%1aT)

A Pharma Company spends Rs. 35 lakhs during the accounting
year ended on 315" March, 2015 on a research project to
develop a drug to treat "CANCER". Experts are of the view
that it may take four years to establish whether the drug will
be effective or not and even it found effective it may take
two to three more years to produce the medicine, which can
be marketed. The comapny wants to treat the expenditure as

deferred revenue expenditure. Comment ?

TF il FOE Y 31 HE 2015 T FATK B o 99 & SH
“EHE" % sl T O <1 fasiad S ¥ T STHEEH
RS W 35 @@ T T R | fadui o A R w3 g
F Tl € A1 B H =R 96 O 6 § T AfS 8 g
B ® @ T S H Q¥ A T R e § SR S

S GHAT 1 HEEER 39 @ o) Tfi s o= % ®9 H
EER T wEdl ¢ | feunt fafed
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UNIT -V

(3T3-V)

10. Write down the disclosure requirement of provisions as per

AS-29.

G AFEH-29 % STTHR HEHMH! % ehe hio] S Savasharst
R # fafau|

OR
( 3rerE)

11. During the year ended 31-03-2015, MNC Ltd. determined that
there has been a significant decrease in market value of its
equipments used in manufacturing process, on 31-03-2015.

MNC Ltd. complied the information below :

Amount (Rs.)

1. Original cost of equipment 50,00,000
25 Accumulated depreciation 30,00,000
3. Value in use 15,00,000
4.  Net Selling price 16,00,000

5805/2290 12



12.

31.3.2015 &1 HAQ TH 91 99 % SRE MNC fofies =
Fruifia feen & fF g e Ftor wfeman & swem Rl oM et
STHTU o R qed § TF T & H T 713132015
& MNC fa. g/ =1 geemd defer i 7 -

i (%)
1. IYHU i AEdfoes drTd 50,00,000
2. B g™ 30,00,000
3. WhHgH 15,00,000
4. s Tomnt g 16,00,000

MNC fe1. 31.3.2015 ! THE B ot & 210 foeo # faat
ST STelt &/ w1 1 Ul @ S =l aen 5w faeh @ a2
H UL il G i oft <wisd |

PART - C
(@uE-w)

What do you mean by the related party transaction (AS-18)?

Give the examples. Write the exceptions of related party.

TrIfeIq 9eieRR i SAfireafwal (AS-18) ¥ o T THER 2
SR ST | FIf-4d TeTehR % oT9ars 9argy |
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13. PQR Ltd. owns 75% of the voting power share of ABC Ltd.
on 01-04-2014 for Rs. 20,00,000. The net assets of ABC Litd.
on 01-04-2014 was Rs. 20,00,000. On 01-10-2015 the
investment in ABC Itd. was sold for Rs. 31,00,000. The net
assets of ABC Ltd. on 31-03-2015 and 30-09-2015 was Rs.
30,00,000 and Rs. 32,00,000 respectively, the difference
representing the profit for the six month period ended on 30-
09-2015. Calculate the profit/loss on disposal of the investment
in subsidiary to be recognized in the consolidation profit and

loss account.

1 a1, 2014 I PQR Ltd. & 9™ ABC f&. % 20,00,000 %.
75% FAMEERR el 39 &1 1 3, 2014 = ABC fa. &1 g5
T 20,00,000 T. o1 1 SR 2015 F ABC fa. # Few
I 31,00,000 ©. # 99 f&@m T 31-3-2015 TE 30-09-2015
FI ABC Ltd. =1 g weafe A9 %. 30,00,000 T 32,00,000
%. off | frgept 3= 30-09-2015 %1 TS B A1 6 HE H
o o1 | Tifed -1t E # wew S fatEm %
fioer W amwe St o yefiia S
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14. SS Ltd. purchased 30% equity shares of XY Ltd. on 01-04-
2013 at a cost of Rs. 5 Lakhs. On that date XY Ltd. equity

fund was as under :

Amount (Rs.)
Equity share capital 10 lakhs
Reserve & Surplus 3 lakhs

During the year 2013-14 and 2014-15 XY Ltd. incurred a loss
of Rs. 10 lakhs and Rs. 15 lakhs respectively. SS Ltd. has a
subsidiary and is required to prepare consolidated financial
statement, how the investment in associate will be shown in

consolidated financial statement of SS Ltd. ?

1 319 2013 T SS Ltd. ¥ XY Ltd. F 30% THaT 3797 50,000

T AN W e TR | 59 faet St XY Lid. o7 3fadt woe frey

TR AT ¢

T a9 doft 10 O %.
mqaaqrf‘aaa ' 3 g 5.
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15.

16.

o9 2013-14 T& 2014-15 H XY Ltd. =Y HU: 10 ©EG T 15
A 1 7 g8 | SS Ltd. TF T8 Fr § iR T wafewd
faita foawor oM 7t eTeveshan €, 379 SS Litd. % wafea fod
forereon # g S el fafeln Y Y

What is the interim financial reporting (AS-25) ? Write the

objectives and significance of interim financial reporting.

ariftn fereia WRAS (AS-25) 41 ¥7 iR forda whided %
ILYF UE Hewadl % SN § fafgu)

Define the following term in respect of AS-29 (Any Two) :
(a) Provision and Liability.

(b) Onerous contract and Executory Contract.

(c) Contingent liability and Contingent Assets.

@ AHE-29 & Ty 4 A  afenfia S (@R @) =
(a) WA T

(b) T ST TS Executory 3Ta

(c) dfey 'q’rﬁﬁ T wfery weafaat
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